~ACCOUNTING AND FINANCE

First Paper (Income Tax Law and Accounts)

Time Allowed : Three Hours Maximum Marks : 100
Part-A (IF1—37) (MLM. : 20)
9 =9 I B AFE ¥ g @ SR 20 T W s <78 2 TR |
[N gl D P IHE &
Part-B (IF1-9) (M.M. : 20)
HA Gig goT ST | IS 99 & 9o) 50 T&T 9o 3ifre -1ET BT IRl W9

YT @ 3P G Bl
| Part-C (SF1-39) (M.M. : 60)
T T T BT | TS T PTIWR 400 TR A i, 8T S ey | Al
YTl D P T &
Part - A (IF1-31)

1. How many sections and schedules are undér Ineome Tax Act, 1961?
ST SR, 1961 @ JFi el SR Td Jrgifert &7

2 . When is a company said to be resident in-India?

U SR BT ART W AR B9 FEIAII 87

3. Can the annual value of a house property be in negative? If so, how?
< R TP TR T QI Yed OIS o Wbl €7 A,
Y7? |

4. . Towhatextent and in howmany instalments the expenditure incurred

| “after 31% March, 1998\as preliminary expenses arc deductible? .
31 9, 1998 a%mﬁwgwmfhﬁauﬁitﬁmﬁrﬁmﬁmww
- frad fral Had drg B Y -

5. Manish sold-goodwill of his trade on 1.12.2011 for Rs. 15,00,000.
The goodwill was purchased on 1.1.1976 for Rs. 2,50,000. Its fair
market ‘value on 1.4.1981 was Rs. 5,00,000. Compute capital gain/

loss for the assessment year 2012-13.

By 3T ST AR B S STRBT 1.12.1981 ®115,00,000
&\ T =y 1.1.1976 @ 2,50,000 . HBI B ;1.
D4.1981 P $HSI Sfd SR I 5,00,000 %, o | Y FAeiRor

as 2012—13 @ Rr¢ Jol am/a 6 TOMET Y|

‘6. Ashesh obtained a house at arent of Rs. 11,000 p.m. and let it out to
a company. During the previous year in the month of January, 2012
he received rent of Rs. 1,71,000 after deduction of tax at source. Find

his income from sub-letting.
398 3 UF AHF 11,000 ®. GfHE TR 0¥ form @R ¥9 &

FAEY B R WX S fa e 9 wead, 20 12 W S SR W
WHFG S 1,71.000 . BT 6T It gN | 7! SUIBRRY Al

I S DR |
7. An assessee has paid during the previous year an expenditure of Rs.
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10.

11.

12.

13,

3,000 on the medical treatment of his dependent mother who is
suffering from cancer and who is 64'/, years old on 31* March, 201 2.
What deduction will you allow him in respect of his expenditure in
computing his total income?
T PRI Y T 9 F g nfE A o e 9% o PR A
Aife ¥ e R sy 31 W, 2012 B 64'/,99 %, 8,000 9.
P 5 | et 31T oY 0T HRd Tl 31T S 39 AT D T H
e g <7 ‘
What do you mean by ‘Impartible estate’?
AT e Y 39 T qAd 87
What is “Pay as you Earn” Scheme?
” R sl Arern R E?
When has an assessee to file return of income?
TP BRI BT A BT T2 B IIFel AT Biell &2

Part-B (AFT-4)
“Income earned during the previous year is taxed i the assessment
year.” Explain the exceptions to this rule. \

e 3 AR BT TS S IR BR-FEROL a6 B} el €1 ¥

| & sae a9 |

Prashant started construction of a residenitial house on 1st January,
2006. It was completed on 10™ Juii€;'2011. It consists two residential
units. Both the units are used forhis.own residence. He took a loan of
Rs. 6,00,000 on 1% April, 2007 for the construction of this house at
an interest rate of 15% per annum. No part of loan has been repaid till
now. Compute the ametntinterest deductible for assessment year

2012-13.
What would be the dediiction in respect of interest if the house is

completed on 10th June, 2010 instead of 10* June, 2011.
g9l 3 T JMRIHBME P1 01 1 Fad, 2006 B R foar |
7E wHF 1097, 20 1 1 B TG IR N | 4 AH H X6 P A
SopTEat 1 St STEal @1 T & AU W B AN B o B B
< HbI @ Frfor @ forg S8 1 37iiel, 2007 31 6,00,000 .
20T\ 5% difiier SISt 3% X T o | %01 & ) M T T 37y 9w
a1 <18 T R ¥ 1 B FraRor af 2012-13 & fore = B
S0 2 Ry Y U PIT | T8 AHE 10 9, 201 1 FEIM R
10 9, 2010 B TIHT TR GAT B N AT BT Bokil el BRIT?
M. Krishna held equity share in Dalmia Chemicals Ltd. of Rs. 60,000
purchased on 10* January, 1988 for Rs. 30,000. The company went
into liquidation on 1* June, 2011. The paid up capital of company
was Rs. 7,50,000 and the accumulated profits were Rs. 4,50,000. The
liquidator made all the payments on 20™ September, 2011 as he had
Rs. 15,00,000 with him for distribution.
o T S U S deed Rifids S 60,000 . B T I
I ST SRR 10 WY, 1988 B 30,000 . ¥ GAX & FH!

| 9, 201 1 @Y GAIG 8 T | T B 799 gl 7,50,000 .
S T THPE o9 4.50,000 . ¥ | FAIEIR® & U9 fawRw & Ry
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15,00,000 %. &, a: 967 20 RGRR, 2011 B PF FRA B

feani
B0 9§ 201213 B Rrv A FuN S g HY e Lo A

) T BT | IS 1987-88 T AN g §ABIP 150
14. Mrs. Savitri earned a lottery income of Rs. 2,60,000 during the
financial year 2011-12 on 10® December, 2011. She does not have
any other taxable income. She has deposited Rs. 20,000 in Public
Provident Fund account during the previous year. Compute nettax
liability of Mrs. Savitri for-assessment year 2012-13.
Sl e @ R o 201 1-12 § 10 RR, 204 B
R 260,000 . B A g | TEH 3 P B WA T el
% 7 a9 § S 20,000 B, GEGFP Hfysy Ffy-a@ H S
FaR) | Bx FgiRor a9 2012-13 & for A FRAL P g& T

2RI F) 0T BIT |

When is a partnership firm assessed as an association of persons?
: ?

15.
| wm@mﬂﬁmm—ﬁumaﬁﬂﬁia%waﬁﬁﬁm
) Part-C (17-3) >
16. How is residence of assesses determined.for income tax purpose?

'Explain the iricidence of residence on fax liability.
W%_W$WW@@TWWWWWﬁHfﬁH
e T &7 PR v By IR R A |

o OR'(3rE191)
From the following information of Shri Avinash, calculate taxable

" income from salary.

1. He joined service in P Ltd. on 31 August, 1998 and he is

getting Rs."15 1000 P.M. as basic pay and Rs. 5,000 P.M. as

deatness ‘allowance. P Ltd. is a company in which 49

employees are working. He was retrenched from service as

‘ oft 31-01-2012. |

2. Before joining in this company he was serving in A Ltd.

from where he receivedRs. 1,40,000 as gratuity, Rs. 90,000

as commuted pension . Rs. 50,000 as compensation and Rs.

1,50,000 as lump sum amount from leave encashment. These
were all exempted from tax in his hand.

On an average he getting 10% commission per month on

annual sales of Rs. 12,00,000.

4. His employer provided him a car of 1.6 cubic litre capacity

for his exclusive personal use for. which his employer

incurred Rs. 49,600 including salary of the driver. The cost

of car is Rs. 3,00,000.
2011-12 he was. relieved from

5. During the previous year
services as on 31* January, 2012 and received Rs. 4,00,000
as gratuily. ‘
6. His pension per month was decided equal to full amount of

, _salary and 60% of dearness allowance. He received
commuted pension of Bs. 1.80.000 for 60% of his pension.
7. He was entitled for 45 days leave in each year. At the time of

:
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retirement he received Rs. 1,80,000 for his leave balance of
12 months.

8. No notice was given to him for his retrenchment, so Rs.
60,000 was given to him as salary of notice period and he
received Rs. 4,50,000 as compensation also.

A1 S B T el A S A B B A I T B

. =M 31 3T, 1988 1 P fafids § i g & va
¥T 15,000 . 9RME Y@ 399 TG 5,000 ©. 9w,
HEme o frerar ¥1 P Rifics v W weEn ¥ R 49
T M PR &1 31 THARA, 2012 BT B R 289
T Y fear | -

2. T S H g g B & gd 9 A Rifiee § g @R <
| T&l § 91 G\ W S, 1.,40,000 ©NIHT,
90,000 %. T&¥d WM, 50,000 ®. &I, Td afoia
HADRT THEIPRI B T=-H A 1,50,000 SV g | 57
1 G TRAT o X gfad g gg | .

3.  TUERBIBN 10% A X F uirneg e frerar ¥ 1 0
&1 3T BT 12,00,000 B gfo-as o -

4. I P ol Swim @ Rielve, 6 TgRie g 6 o
glaen fiell g8 ¥ | 599 g g e Y T od 3§ gsaR S
aa?%a 49,000 w( F&14fPY | R H TR 3.00.000

w. % .
5. TA 201112881 WA, 2012 B I Yfaw qx

9 4,00,000 . I I=gEd el
6. S8 ] § 96 T TS T D 60% B INER GRHE
IT fRiNGT| SR o YO B 60% WM @ geqy
TPgeS-1,80,000 . U fawdr| '
7. STAFTIE P IIER TS T F 45 R BT s o oy
ISR AN YRS AT AN A 12 TR S affg
m;ﬁﬁ%gooo . fet |
8. : Bl B BRYT WM 6 B
31 978 60,000 E.aﬁmwﬁa%am;ii:

| W B AR S= 4,50,000 . dafogfd & § fyey)

17. "\ From the following perticulars determine Shri Ramesh Chandra's
tl%xable income under different heads for the assessment year 2012-
Pt faeor & gr1 A @ 7= & 3w 9 3 BT Frefivoy

SY-RERT T 2012-13 B Riw RAfET fide) I BT |
Income and expenditure - ccount of Shri Ramesh Chandra
for the year ending 31+ March, 2012 :
. 81 W, 2012 F; FHIat BN a1t 99 B fore
A W T B AR v @y wry
Rs.
Salaries 35,000 Consultation Fees 1,00 0%36

—
Scanned by CamScanner




Professional subscription 1,500 Cash gift fromclients 10,000

Gifttoson 800 Ren

Life Insurance premium 2,100 (8 mtogglnsl)property 2400
Municipal taxes ° 480

Entertainment expenses 18,000 |

Contribution to Recognised

Provident Fund 12,000

Travelling Expenses 8,000

Surplus 34,520

() Contribution of Provident Fund includes Rs. 8.000,
assessee's contribution deposited after due date. The

~ contribution received from the employees amount€dtoRs.
12,000 out of which also Rs. 8,000 have been-deposited

after due date.
(1) Municipal taxes relate to house property let out.
(iii) Rs. 3,000 payable for bonus includes insalaries have been

paid in January, 2013. ‘
() The house property was occupied by Shri Ramesh Chandra
idence for 4-months. The house was

for his own resl
constructed on March 12000. Mugicipal valuation is Rs.

4,000. . -
An imported car costing Rs. 80,000 was purchased in June,

V) .

9 2011. It was used forprofession since January 1, 2012.

(vi) A typewriter costing Rs»4.500 was purchased for office use .
in November, 2011, .

i wﬁmwﬁwﬁfﬁmﬁma%mm%s,oooaﬁ
& 2 RS T T @ wifie € | IRl & SIar

| Rrni ¥ 8,000 B. Al &

8
A
%
»
S
o
4
&

1 o T TR B o
Wmmmﬂwﬁﬂs‘mmﬁlﬁmﬁaa%l

(ii)
(i) 9 I B IR 3,000.%. | & s g
Sad, 2013 % e TR
(iv) Wﬂwﬁf4m$mﬁrmﬁmmma§
&7 P @ e v B T | T B FHE | A4, 2000 BT
fpT 7T | IR Gl 4,000 .81 '
) 80,000 . @G & & fasdl SRS, 2011 Hpaal

| g | @ 1 wEd, 2012 W WS fere vy fon T
(vi) TR, 2011 ¥ Brier W & 4,500 . B AR A 76
' TR T

OR (F991)

What do you mean by “Capital Assets”? Describe the capital gains
which are exempted fromincome tax. - | '
ot TRl § 9 T W E7 <1 GOl @l BT IO B, S

HIHY W o 8 -
18. From the following particulars of Shri Chinku, calculate his net tax

liability for the assessment year 2012-13.
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Rs.
(1) Salary (After deduction of tax Rs. 2,060) 1,97,940 -
(ii) Business Income 4,10,000
(iii) Royalty on books received in January, 2012 36,000
(Books are recommended by the Rajasthan
University and these are of literary natures)
(iv) Rent from property 20,000
v) Interest on Govt. Securities (in November, 2011) 15,000
(vi) - Bankinterest received from F.D. in February, 201210,800

(lvsii())OO Income of minor son (Chinku's wife has no income)

(viii)  Long term capital gain 30,000
(ix) Contribution to Public Provident Fund 30,000
(x) Life insurance premium paid _ 10,000
(xi) Health insurance premium paid by cheque 8,000
(xii) Donation to National Defence Fund 2,500
(xiii)  Net agriculture income 25,000

_ﬁv:r%ﬁaaﬁamﬁa?rﬁa% 2012~ 13ﬁak01‘q's‘r$ﬁr§f§1a
R B T BT

A
(i) - A07(2,060 6. B D B B 91E) 1,97,940
(i) <AARE I 4,10,000

(iii) gwﬁwmﬂzomﬁmﬁamaﬁ |
(W%mﬁﬁwﬁammajsﬂﬂ%aw 6,000

- g ygfa el
(iv) HBM TART i vt | 20,000
v) RPN RG] =1t (Fa%), 2011 ) 600
(vi) I ¥ BaW 2012frw1§m$rm 10,800
g1 faber o
(vii) aawgaaﬁm(ﬁaaﬁuﬁa%aﬂs‘am
WwE) 15,000
(viii) (b1l Toll a9 | 30,000
63 DR 1 15 | G A 1= e A o B 30,000
(x) e 1 N gorn 10,000
(i) Ry §F IR 3% § gem 8.000
i) T GRE DY H §F 2,500
(xiii) Ig BN I 25,000
OR (3rean)

Ramesh and Suresh are equal partners in a firm. The proﬁt and loss
account of the firm for the year endmg as on 31* March, 2012 is as

under :

mwgimwmﬁﬁwmm%l 31 9, 2012%3‘@3@

T4 B 1T B &1 a9 ST 3 YR &
Profit and Loss Account
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Rs. Rs

To interest on capital @ Z2% By Business profits 2,40,000
Ramesh 18,000 ByIncome fromhouse
Suresh ' , 27.000 property (Computed) 16,000
To remuneration to working By Profit on sale of listed
ers . equity shares 30,000
Ramesh 60,000
Suresh - 36,000
To Donation to Public
Charitable Trust 20,000
To Share to Profit
Ramesh. , 62,500
Suresh - 62,500
2,86,000 2,86,000
The other information are as under: _ ..
) The remunence and interest on capital are\as,per instrument -
of partnership. \ . v ’
- (1D Ramesh paid interest to the firm on drawing for the marriage

expenses of his danghter Rs. 20,0007 _
(iii) Suresh paid an interest of Rs; 30,000 on money borrowed

from a money lender to contfibute capital in the firm.

{iv) Shares sold on 15 December, 2011 was purchased in June;
'1990 for Rs. 18,200/ Shares are sold through a recognized
stock exchange. |

™) 500 equity shares of Bansal Private Limited was transferred .

to the firm by Mr.Mahesh for a consideration of Rs. 20,000

while the fair market value of such shares was Rs. 60,000 on

that day: ‘ ‘
Compute thetotal income of the firm and the amount which will be -
included in-the income of partners for the assessment year 2012-13.
The costinflation index for the year 1990-91 is 182. :

mwﬁqﬁfﬁﬁ%. o | | |
@) gmzﬁaﬁqrﬁarﬁﬁwqyﬁwmaﬁmﬂma%

(i)
ﬁwﬁaﬁzo,000§.$mﬁlﬂ'ﬂﬂﬁml
(i) G ' )
ﬁﬂTa‘@fS0,000E.%Wﬂ_Wﬁ?ﬂTI
(iv) 15&@@'\’,'2011aa’ra%mﬁsmqugoﬁw,zoo
a_ﬁmﬁ;anﬁﬁldsﬁmﬁmwﬁﬁw-aﬁﬁw$

wreg ¥ fopa T B - | _
™) mﬁ@;ﬁrmmmmﬁtﬁrﬁé@a‘:soomw
20.000 E.Eﬁqma?ﬂaﬁgﬁﬁﬁﬁﬁﬁ@mﬁiw

7 ggar ofad IR el 60,000 %. AT
oo 7§ 2012—13 B fore v & T I T VAT BT

e
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U WEERT B I A AR @ W a1 IRy Bt A 7O BT |
af 1990-9 1 @ ARV G HTPS 182 ¢8|

Scanned by CamScanner



